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Instructions to Contestants:
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There are 20 questions in this paper and the total score is 100.
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Unless otherwise stated, all numbers in this paper are in decimal system.
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All answers are integers between 0 and 9999 (including 0 and 9999). Follow the instructions
on the answer sheet to enter the answers. You are not required to hand in your steps of working.
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The use of calculators is not allowed.
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The diagrams in this paper are not necessarily drawn to scale.
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Find the unit digit of 1+2+3+---+2011.
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In a trapezium, three interior angles are 60°, 70° and x°. Find the sum of all
possible values of x.
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What is the mean of the first 2011 positive integers (i.e. 1, 2, ..., 2011)?

F1 2010 [ BByl > Rk 3TERR (LI [ Bl 4 BRIV E 20D 2

How many of the first 2011 positive integers are divisible by 3 but not by 4?
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Let A and B be two triangular prisms. One face of A is congruent to one face of B.
If these two faces of A and B are glued together to form a new solid, what is the
minimum number of faces of the new solid?
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How many digits are there in the product 4x51x601x 7001x80001x 9000017

S SR 2000 MR o RIS @ RL 246 5 FI g g ] AL
E' e 2

A seven-digit number is divisible by 2011. If its first three digits are 246, what is
the smallest possible value of its last four digits?
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The sum of digits of an odd number is 2011. If the number is divided by 18, what
is the remainder?
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Given 2011x129=259419 and 129° =16641. How many ‘4’s are there in the
product 20110129x 201101297 (5 marks)
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In an examination, the teacher decided to adjust the scores by awarding a bonus
score to each student depending on his/her daily performance. For a student with
examination score E and bonus score B, his/her adjusted score will be

5B +%(100—SB). Polly and Queenie took the examination and, despite having

different examination scores, ended up with the same adjusted score. If Polly got a
score of 100 in the examination, what bonus score was Queenie awarded? (5 marks)
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In the figure, the area of the smaller circle is
n% that of the larger circle. Find the integer
closest to n. \ / (5 marks)
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In a regular 2011-sided polygon, the distance from each vertex to its centre is 1.

Find the area of the polygon correct to the nearest integer. (5 marks)
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Find the smallest positive integer n so that the last four digits of 2011n are 0129. (6 marks)
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There are 40 students in a class. The teacher asked each student to write down a
positive integer, and subsequently found that there were n ways to choose two
students such that the positive integer written by one of them is twice that of the
other. Find the largest possible value of n.
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In the figure, ABCD is a square of area 10000. E
and F are points on AB and BC respectively such
that AE:EB=1:2 and BF:FC=3:4. AF and
CE meet at G. Find the area of quadrilateral BFGE
correct to the nearest integer.

AT~ R (R ol 2 -
Vs G- =) pu &M g O 0)0 5 O
A 00
N
7 []

The figure shows a division, but some digits
are left out. Find the last four digits of the
quotient (i.e. the top row).
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In the figure, ABCD and AECF are
parallelograms and AC = AD =CF.
If /BCF = 48° and ZECD = x°,
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find x. \/
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In a country, there are six types of coins, with denominations $1, $2, $3, $10, $20
and $50 respectively. By having one of each type of coins, how many different
positive amounts can be paid without change?
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On the coordinate plane, an ant wants to travel from (0, 0) to (6, 6). In each step

the ant may only travel one unit upward or rightward, and it must not pass through
the point (3, 3). How many different routes are possible?
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In a right-angled triangle, the hypotenuse is 52 shorter than the sum of the other
two sides. If the shortest altitude has length 60, find the length of the shortest side.
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